

# On cubic convex functions and applications in information theory

Mehdi Dehghanian\*, Yamin Sayyari

*Department of Mathematics, Sirjan University of Technology, Sirjan, Iran*

*(Communicated by Abasalt Bodaghi)*

---

## Abstract

In this paper, we introduce the cubic convex function and investigate Jensen type inequality, Fejér-Hermite-Hadamard type inequality and Mercer type inequality for cubic convex functions. Also, we give some applications in means and information theory by applying those inequalities.

Keywords: cubic convex function, entropy, Fejér-Hermite-Hadamard inequality, Jensen's inequality, Mercer inequality

2020 MSC: 26B25, 26D20

---

## 1 Introduction

Let  $I$  be an interval in  $\mathbb{R}$ . A function  $\varphi : I \rightarrow \mathbb{R}$  is named convex if

$$\varphi(tx + (1-t)y) \leq t\varphi(x) + (1-t)\varphi(y) \quad (1.1)$$

for all  $x, y \in I$  and  $0 \leq t \leq 1$ .

Jensen's inequality [4], Hermite-Hadamard inequality [3] and Mercer inequality [5] for convex functions are some of the best known used inequalities in various fields of optimization and mathematics.

In [2], Fejér established the following Fejér inequality which is the weighted generalization of Hermite-Hadamard inequality.

Be reason of the extensive applications of the Jensen's, Hermite-Hadamard and Mercer inequalities, some authors generalized their works via mappings of different kinds. For example, we can refer to [1, 6, 13] and the references therein.

The concept of convexity is important in information theory [9] and Shannon entropy [7]-[12].

The aim of this article is to introduce cubic convex function and establish some new Jensen, Fejér-Hermite-Hadamard and Mercer type inequality for cubic convex functions. Next, applying those inequalities in analysis and information theory to obtain a new bound for Shannon entropy.

---

\*Corresponding author

Email addresses: [mdehghanian@sirjantech.ac.ir](mailto:mdehghanian@sirjantech.ac.ir) (Mehdi Dehghanian), [y.sayyari@sirjantech.ac.ir](mailto:y.sayyari@sirjantech.ac.ir) (Yamin Sayyari)

## 2 Jensen inequality for cubic convex functions

**Definition 2.1.** Let  $I$  be an interval in  $\mathbb{R}$ . A function  $\varphi : I \rightarrow \mathbb{R}$  is named cubic convex if the following inequality

$$\varphi\left(\sqrt[3]{tx^3 + (1-t)y^3}\right) \leq t\varphi(x) + (1-t)\varphi(y) \quad (2.1)$$

for all  $x, y \in I$  and  $t \in [0, 1]$ .

**Example 2.2.** Let  $a$  be a positive real number and  $\varphi : \mathbb{R} \rightarrow \mathbb{R}$  define by  $\varphi(x) = ax^3$ . Then  $\varphi$  is cubic convex but is not convex.

**Example 2.3.** Let  $a$  be a positive real number and  $\varphi : \mathbb{R} \rightarrow \mathbb{R}$  define by  $\varphi(x) = ax$ . Then  $\varphi$  is convex but is not cubic convex because for  $x = -1, y = 2$  and  $t = \frac{1}{2}$  we have  $\sqrt[3]{\frac{7}{2}} > \frac{1}{2}$ .

**Example 2.4.** Let  $\varphi : (0, \infty) \rightarrow \mathbb{R}$  define by  $\varphi(x) = -\log(x)$ . Then  $\varphi$  is convex and cubic convex function.

**Remark 2.5.** Let  $\varphi$  be an increasing function on  $[a, b]$ . Then

1. if  $a < b \leq 0$  and  $\varphi$  is convex on  $[a, b]$ , then  $\varphi$  is cubic convex on  $[a, b]$ ,
2. if  $0 \leq a < b$  and  $\varphi$  is cubic convex on  $[a, b]$ , then  $\varphi$  is convex on  $[a, b]$ .

**Lemma 2.6.** Let  $\varphi : [a, b] \rightarrow \mathbb{R}$  be a cubic convex function. If  $a \leq u < v < w \leq b$ . Then

1.  $\frac{\varphi(v) - \varphi(u)}{2} \leq \varphi\left(\sqrt[3]{\frac{v^3 + w^3}{2}}\right) - \varphi\left(\sqrt[3]{\frac{u^3 + w^3}{2}}\right)$ .
2.  $\frac{\varphi(w) - \varphi(v)}{2} \geq \varphi\left(\sqrt[3]{\frac{u^3 + w^3}{2}}\right) - \varphi\left(\sqrt[3]{\frac{u^3 + v^3}{2}}\right)$ .

**Proof .** Let  $a \leq u < v < w \leq b$ .

1. Since  $u^3 < v^3 < \frac{v^3 + w^3}{2} < w^3$ , there exist  $t, s \in [0, 1]$ ,  $t + s = 1$  such that

$$v = \sqrt[3]{tu^3 + s\frac{v^3 + w^3}{2}}.$$

So

$$\begin{aligned} \frac{\varphi(u) - \varphi(v)}{2} + \varphi\left(\sqrt[3]{\frac{v^3 + w^3}{2}}\right) &= \frac{1}{2} \left[ \varphi(u) - \varphi\left(\sqrt[3]{tu^3 + s\frac{v^3 + w^3}{2}}\right) \right] + \varphi\left(\sqrt[3]{\frac{v^3 + w^3}{2}}\right) \\ &\geq \frac{1}{2} \left[ \varphi(u) - \left( t\varphi(u) + s\varphi\left(\sqrt[3]{\frac{v^3 + w^3}{2}}\right) \right) \right] + \varphi\left(\sqrt[3]{\frac{v^3 + w^3}{2}}\right) \\ &= \frac{s}{2}\varphi(u) + \left(1 - \frac{s}{2}\right) \varphi\left(\sqrt[3]{\frac{v^3 + w^3}{2}}\right) \\ &\geq \varphi\left(\sqrt[3]{\frac{s}{2}u^3 + \left(1 - \frac{s}{2}\right) \frac{v^3 + w^3}{2}}\right) \\ &= \varphi\left(\sqrt[3]{\frac{s}{2}u^3 + \frac{v^3 + w^3}{2} - \frac{1}{2}(v^3 - tu^3)}\right) = \varphi\left(\sqrt[3]{\frac{u^3 + w^3}{2}}\right). \end{aligned}$$

2. Since  $u^3 < \frac{u^3 + v^3}{2} < v^3 < w^3$ , there exist  $t, s \in [0, 1]$ ,  $t + s = 1$  such that  $v^3 = t\frac{u^3 + v^3}{2} + sw^3$ . Thus  $v = \sqrt[3]{t\frac{u^3 + v^3}{2} + sw^3}$  and the proof is similar to the proof of part (1).

This completes the proof.  $\square$

**Theorem 2.7.** Let  $\varphi : [a, b] \rightarrow \mathbb{R}$  be a cubic convex function and let

$$\Delta(p, q) := \varphi(p) + \varphi(q) - 2\varphi\left(\sqrt[3]{\frac{p^3 + q^3}{2}}\right)$$

for all  $p, q \in [a, b]$ . Then

$$\max_{p, q} \Delta(p, q) = \Delta(a, b).$$

**Proof .** Setting  $u = a, v = p$  and  $w = b$  in the part (i) of Lemma 2.6 and  $u = p, v = q$  and  $w = b$  in the part (ii) of Lemma 2.6, we get

$$\frac{\varphi(p) - \varphi(a)}{2} \leq \varphi\left(\sqrt[3]{\frac{p^3 + b^3}{2}}\right) - \varphi\left(\sqrt[3]{\frac{a^3 + b^3}{2}}\right), \tag{2.2}$$

$$\frac{\varphi(b) - \varphi(q)}{2} \geq \varphi\left(\sqrt[3]{\frac{p^3 + b^3}{2}}\right) - \varphi\left(\sqrt[3]{\frac{p^3 + q^3}{2}}\right), \tag{2.3}$$

respectively.

From (2.3) we arrive at

$$\frac{\varphi(q) - \varphi(b)}{2} \leq \varphi\left(\sqrt[3]{\frac{p^3 + q^3}{2}}\right) - \varphi\left(\sqrt[3]{\frac{p^3 + b^3}{2}}\right). \tag{2.4}$$

Adding (2.2) from (2.4), we obtain the desired result.  $\square$

In the following theorem we get Jensen type inequality for cubic convex functions.

**Theorem 2.8.** Let  $\varphi : I \rightarrow \mathbb{R}$  be a cubic convex function, let  $x_i \in I$ , and let  $t_i \geq 0$  for all  $i = 1, \dots, n$ , with  $\sum_{i=1}^n t_i = 1$ . Then

$$\varphi\left(\sqrt[3]{\sum_{i=1}^n t_i x_i^3}\right) \leq \sum_{i=1}^n t_i \varphi(x_i). \tag{2.5}$$

**Proof .** The proof can be done by using method induction. For  $n = 2$  (2.5) is holds. To prove the step of induction for  $n \geq 2$ , suppose that (2.5) satisfies for all convex combinations having less than or equal to  $n$  elements. Without loss of generality, we assume that  $t_n + t_{n+1} \neq 0$ . Therefore,

$$\begin{aligned} \varphi\left(\sqrt[3]{\sum_{i=1}^{n+1} t_i x_i^3}\right) &= \varphi\left(\sqrt[3]{\sum_{i=1}^{n-1} t_i x_i^3 + (t_n + t_{n+1}) \times \frac{t_n x_n^3 + t_{n+1} x_{n+1}^3}{t_n + t_{n+1}}}\right) \\ &\leq \sum_{i=1}^{n-1} t_i \varphi(x_i) + (t_n + t_{n+1}) \varphi\left(\sqrt[3]{\frac{t_n x_n^3 + t_{n+1} x_{n+1}^3}{t_n + t_{n+1}}}\right) \\ &\leq \sum_{i=1}^{n-1} t_i \varphi(x_i) + (t_n + t_{n+1}) \left(\frac{t_n}{t_n + t_{n+1}} \varphi(x_n) + \frac{t_{n+1}}{t_n + t_{n+1}} \varphi(x_{n+1})\right) \\ &= \sum_{i=1}^{n+1} t_i \varphi(x_i). \end{aligned}$$

This completes the proof.  $\square$

**Theorem 2.9.** Let  $\varphi : I \rightarrow \mathbb{R}$  be a cubic convex function, let  $x_i \in I$ , and let  $t_i \geq 0$  for all  $i = 1, \dots, n$ , with

$\sum_{i=1}^n t_i = 1$ . Then

$$\begin{aligned} \mathcal{J}\mathcal{C}_\varphi(\mathbf{t}, \mathbf{x}) &:= \sum_{i=1}^n t_i \varphi(x_i) - \varphi \left( \sqrt[3]{\sum_{i=1}^n t_i x_i^3} \right) \\ &\geq \max_{1 \leq r < s \leq n} \left\{ t_r \varphi(x_r) + t_s \varphi(x_s) - (t_r + t_s) \varphi \left( \sqrt[3]{\frac{t_r x_r^3 + t_s x_s^3}{t_r + t_s}} \right) \right\} \end{aligned}$$

where  $\mathbf{x} = \{x_i\}$ ,  $\mathbf{t} = \{t_i\}$ .

**Proof .** Suppose that  $r, s \in \{1, \dots, n\}$  are arbitrary. So

$$\begin{aligned} \varphi \left( \sqrt[3]{\sum_{i=1}^n t_i x_i^3} \right) &= \varphi \left( \sqrt[3]{\sum_{i \neq r, s} t_i x_i^3 + (t_r + t_s) \frac{t_r x_r^3 + t_s x_s^3}{t_r + t_s}} \right) \\ &\leq \sum_{i \neq r, s} t_i \varphi(x_i) + (t_r + t_s) \varphi \left( \sqrt[3]{\frac{t_r x_r^3 + t_s x_s^3}{t_r + t_s}} \right). \end{aligned}$$

Therefore,

$$\mathcal{J}\mathcal{C}_\varphi(\mathbf{t}, \mathbf{x}) \geq t_r \varphi(x_r) + t_s \varphi(x_s) - (t_r + t_s) \varphi \left( \sqrt[3]{\frac{t_r x_r^3 + t_s x_s^3}{t_r + t_s}} \right).$$

This completes the proof.  $\square$

**Theorem 2.10.** Let  $\varphi : [a, b] \rightarrow \mathbb{R}$  be a cubic convex function, let  $\mathbf{x} := \{x_i\} \in I$ , and let  $\mathbf{t} := \{t_i\}$ ,  $t_i \geq 0$  for all  $i = 1, \dots, n$ , with  $\sum_{i=1}^n t_i = 1$  and  $\lambda, \mu \geq 0$ ,  $\lambda + \mu = 1$ . Then

$$\mathcal{J}\mathcal{C}_\varphi(\mathbf{t}, \mathbf{x}) \leq \max_{\lambda} \left[ \lambda \varphi(a) + \mu \varphi(b) - \varphi \left( \sqrt[3]{\lambda a^3 + \mu b^3} \right) \right] := \Lambda_\varphi(a, b). \quad (2.6)$$

**Proof .** Let  $x_i \in [a, b]$ . Then there exists a  $\gamma_i \in [0, 1]$  such that  $x_i^3 = \gamma_i a^3 + (1 - \gamma_i) b^3$  for all  $i = 1, 2, \dots, n$ . So

$$\begin{aligned} &\sum_{i=1}^n t_i \varphi(x_i) - \varphi \left( \sqrt[3]{\sum_{i=1}^n t_i x_i^3} \right) \\ &= \sum_{i=1}^n t_i \varphi \left( \sqrt[3]{\gamma_i a^3 + (1 - \gamma_i) b^3} \right) - \varphi \left( \sqrt[3]{\sum_{i=1}^n t_i (\gamma_i a^3 + (1 - \gamma_i) b^3)} \right) \\ &\leq \sum_{i=1}^n t_i (\gamma_i \varphi(a) + (1 - \gamma_i) \varphi(b)) - \varphi \left( \sqrt[3]{a^3 \sum_{i=1}^n t_i \gamma_i + b^3 \sum_{i=1}^n t_i (1 - \gamma_i)} \right) \\ &= \lambda \varphi(a) + \mu \varphi(b) - \varphi \left( \sqrt[3]{\lambda a^3 + \mu b^3} \right), \end{aligned}$$

where  $\lambda = \sum_{i=1}^n t_i \gamma_i$  and  $\mu = 1 - \lambda$ . Hence

$$\mathcal{J}\mathcal{C}_\varphi(\mathbf{t}, \mathbf{x}) \leq \max_{\lambda} \left[ \lambda \varphi(a) + \mu \varphi(b) - \varphi \left( \sqrt[3]{\lambda a^3 + \mu b^3} \right) \right], \quad (2.7)$$

which ends the proof.  $\square$

In the following theorem we obtain Fejér-Hermite-Hadamard type inequality for cubic convex functions.

**Theorem 2.11.** Let  $\varphi$  be a real-valued and cubic convex function on  $[a, b]$  and  $\omega : [a^3, b^3] \rightarrow \mathbb{R}$  be a nonnegative, integrable and symmetric with respect to  $\frac{a^3+b^3}{2}$ . Then

$$\varphi\left(\sqrt[3]{\frac{a^3+b^3}{2}}\right) \int_{a^3}^{b^3} \omega(x) dx \leq \int_{a^3}^{b^3} \varphi(\sqrt[3]{x}) \omega(x) dx \leq \frac{\varphi(a) + \varphi(b)}{2} \int_{a^3}^{b^3} \omega(x) dx.$$

**Proof .** Assume that  $0 \leq t \leq 1$ , we have

$$\varphi\left(\sqrt[3]{\frac{a^3+b^3}{2}}\right) \leq \frac{\varphi\left(\sqrt[3]{ta^3+(1-t)b^3}\right) + \varphi\left(\sqrt[3]{(1-t)a^3+tb^3}\right)}{2} \leq \frac{\varphi(a) + \varphi(b)}{2}.$$

Multiply the above inequalities by  $\omega(ta^3 + (1-t)b^3)$  and integrating with respect to  $t$  over  $[0, 1]$ , we arrive at

$$\varphi\left(\sqrt[3]{\frac{a^3+b^3}{2}}\right) \int_{a^3}^{b^3} \omega(x) dx \leq \int_{a^3}^{b^3} \varphi(\sqrt[3]{x}) \omega(x) dx \leq \frac{\varphi(a) + \varphi(b)}{2} \int_{a^3}^{b^3} \omega(x) dx,$$

and the proof is complete.  $\square$

If we set  $\omega(x) = 1$  in Theorem 2.11, then it implies that the Hermite–Hadamard type inequality for cubic convex functions.

**Corollary 2.12.** Let  $\varphi$  be a real-valued and cubic convex function on  $[a, b]$ . Then

$$\varphi\left(\sqrt[3]{\frac{a^3+b^3}{2}}\right) \leq \frac{1}{b^3-a^3} \int_{a^3}^{b^3} \varphi(\sqrt[3]{x}) dx \leq \frac{\varphi(a) + \varphi(b)}{2}. \tag{2.8}$$

Now, we show that Hermite-Hadamard inequality has a self-improving property.

**Corollary 2.13.** Let  $\varphi$  be a real-valued and cubic convex function on  $[a, b]$ . Then

$$\varphi\left(\sqrt[3]{\frac{a^3+b^3}{2}}\right) \leq \frac{1}{b^3-a^3} \int_{a^3}^{b^3} \varphi(\sqrt[3]{x}) dx \leq \frac{1}{2} \left[ \varphi\left(\sqrt[3]{\frac{a^3+b^3}{2}}\right) + \frac{\varphi(a) + \varphi(b)}{2} \right]. \tag{2.9}$$

**Proof .** Using twice the right part of (2.8) yield

$$\frac{2}{b^3-a^3} \int_{a^3}^{\frac{a^3+b^3}{2}} \varphi(\sqrt[3]{x}) dx \leq \frac{1}{2} \left[ \varphi(a) + \varphi\left(\sqrt[3]{\frac{a^3+b^3}{2}}\right) \right], \tag{2.10}$$

and

$$\frac{2}{b^3-a^3} \int_{\frac{a^3+b^3}{2}}^{b^3} \varphi(\sqrt[3]{x}) dx \leq \frac{1}{2} \left[ \varphi\left(\sqrt[3]{\frac{a^3+b^3}{2}}\right) + \varphi(b) \right]. \tag{2.11}$$

From (2.10) and (2.11) clearly leads to (2.9).  $\square$

**Theorem 2.14.** Let  $\varphi$  be a cubic convex function on  $[a, b]$ . Then

$$\varphi\left(\sqrt[3]{a^3+b^3-\sum_{i=1}^n t_i x_i^3}\right) \leq \varphi(a) + \varphi(b) - \sum_{i=1}^n t_i \varphi(x_i), \tag{2.12}$$

where  $x_i \in [a, b]$  and  $t_i \geq 0$  for all  $i = 1, \dots, n$  with  $\sum_{i=1}^n t_i = 1$ .

**Proof .** Assume that  $x \in [a, b]$ . Then there exists  $t \in [0, 1]$  such that  $x^3 = ta^3 + (1-t)b^3$ . Thus

$$\begin{aligned} \varphi(x) + \varphi\left(\sqrt[3]{a^3 + b^3 - x^3}\right) &= \varphi\left(\sqrt[3]{ta^3 + (1-t)b^3}\right) + \varphi\left(\sqrt[3]{(1-t)a^3 + tb^3}\right) \\ &\leq \varphi(a) + \varphi(b). \end{aligned}$$

Hence

$$\varphi(x) + \varphi\left(\sqrt[3]{a^3 + b^3 - x^3}\right) \leq \varphi(a) + \varphi(b),$$

for all  $x \in [a, b]$ . So

$$\begin{aligned} \varphi\left(\sqrt[3]{a^3 + b^3 - \sum_{i=1}^n t_i x_i^3}\right) &= \varphi\left(\sqrt[3]{\sum_{i=1}^n t_i (a^3 + b^3 - x_i^3)}\right) \\ &\leq \sum_{i=1}^n t_i \varphi\left(\sqrt[3]{a^3 + b^3 - x_i^3}\right) \leq \varphi(a) + \varphi(b) - \sum_{i=1}^n t_i \varphi(x_i). \end{aligned}$$

This completes the proof of the inequality (2.12).  $\square$

### 3 Applications

Let  $\mathbf{x} = \{x_i\} \subseteq [a, b]$ ,  $\mathbf{t} = \{t_i\}$  and  $\sum_{i=1}^n t_i = 1$ . Define

$$A(\mathbf{t}, \mathbf{x}^3) = \sum_{i=1}^n t_i x_i^3, \quad \tilde{A}(\mathbf{t}, \mathbf{x}^3) := a + b - A(\mathbf{t}, \mathbf{x}^3),$$

$$G(\mathbf{t}, \mathbf{x}) = \prod_{i=1}^n x_i^{t_i} \quad \text{and} \quad \tilde{G}(\mathbf{t}, \mathbf{x}) = \frac{ab}{G(\mathbf{t}, \mathbf{x})}.$$

**Definition 3.1.** For probability distribution  $\mathbf{t}$  the Shannon entropy of  $\mathbf{t}$  is defined by

$$H(\mathbf{t}) := - \sum_{i=1}^n t_i \log(t_i).$$

**Proposition 3.2.** Let  $0 < a \leq x_i \leq b$ . Then

$$a \sqrt[3]{A(\mathbf{t}, \mathbf{x}^3)} \leq b G(\mathbf{t}, \mathbf{x}).$$

**Proof .** The inequality follows from Theorem 2.10 with  $\varphi(x) := -\log(x)$  and

$$\log\left(\frac{\sqrt[3]{\lambda a^3 + \mu b^3}}{a^\lambda b^\mu}\right) \leq \log\left(\frac{b}{a}\right)$$

where  $0 \leq \lambda \leq 1$  and  $\mu = 1 - \lambda$ .  $\square$

**Proposition 3.3.** Let  $\eta := \max\{t_i : 1 \leq i \leq n\}$  and  $\theta := \min\{t_i : 1 \leq i \leq n\}$ . Then

$$0 \leq \log n - H(\mathbf{t}) \leq \log\left(\frac{\eta}{\theta}\right).$$

**Proof .** The inequality follows from Theorem 2.10 with  $\varphi(x) := -\log(x)$  and  $x_i := \frac{1}{\sqrt[3]{t_i}}$  for all  $i = 1, \dots, n$ .  $\square$

**Proposition 3.4.** Let  $0 < a \leq x_i \leq b$ . Then

$$\tilde{G}(\mathbf{t}, \mathbf{x}) \leq \sqrt[3]{\tilde{A}(\mathbf{t}, \mathbf{x}^3)}.$$

**Proof .** The inequality follows from Theorem 2.14 with  $\varphi(x) := -\log(x)$ .  $\square$

## References

- [1] S.S. Dragomir and C.J. Goh, *Some bounds on entropy measures in information theory*, Appl. Math. Lett. **10** (1997), no. 3, 23–28.
- [2] L. Fejér, *Über die Fourierreihen, II*, Math. Naturwiss. Anz Ungar. Akad. Wiss. **24** (1906), 369–390, (in Hungarian).
- [3] J. Hadamard, *Etude sur les propriétés des fonctions entières et en particulier d'une fonction considérée par Riemann*, J. Math. Pures Appl. **58** (1893), 171–172.
- [4] J.L.W.V. Jensen, *Om konvekse funktioner og uligheder mellem middelveerdier*, Nyt. Tidsskr. Math. B. **16** (1905), 49–68.
- [5] A.M. Mercer, *A variant of Jensen's inequality*, J. Inequal. Pure Appl. Math. **4** (2003), no. 4.
- [6] Y. Sayyari, *New entropy bounds via uniformly convex functions*, Chaos, Solit. Fract. **141** (2020), 110360.
- [7] Y. Sayyari, *A refinement of the Jensen-Simic-Mercer inequality with applications to entropy*, Pure Appl. Math. **29** (2022), no. 1, 51–57.
- [8] Y. Sayyari, *New refinements of Shannon's entropy upper bounds*, J. Inf. Optim. Sci. **42** (2021), no. 8, 1869–1883.
- [9] Y. Sayyari, *An improvement of the upper bound on the entropy of information sources*, J. Math. Ext. **15** (2021), no. 2, 1–12.
- [10] Y. Sayyari, *Remarks on uniform convexity with applications in A-G-H inequality and entropy*, Int. J. Nonlinear Anal. Appl. **13** (2022), no. 2, 131–139.
- [11] Y. Sayyari, *An extension of Jensen-mercator inequality with applications to entropy*, Honam Math. J. **44** (2022), no. 4, 513–520.
- [12] Y. Sayyari, *New bounds for entropy of information sources*, Wavel. Lin. Algeb. **5** (2020), no. 3, 23–31.
- [13] Y. Sayyari, M. Dehghanian, C. Park and S. Paokanta, *An extension of the Hermite-Hadamard inequality for a power of a convex function*, Open Math. **21** (2023), no. 1, 1–11.
- [14] S. Simic, *Jensen's inequality and new entropy bounds*, Appl. Math. Lett. **22** (2009), no. 8, 1262–1265.